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Directions for the following  passage s:  
 

Read the following passages and answer 
the items that follow each passage. Your 
answers to these items should be based 
on the passages only.  
 

Passage-1 
Accountability, or the lack of it, in 
governance generally, and civil services , in  
particular, is a major factor underlying the 
deficiencies in governance and public  
administration. Designing an effective 
framework for accountability has been a 
key element of the reform agenda. A 
fundamental issue is whether civil services 
should be accountable to   the  political   
executive  of the day or to society at large. 
In other words, how should internal and 
external accountability be reconciled? 
Internal accountability is sought to be 
achieved by internal performance 
monitoring, official supervi sion by bodies 
like the Central Vigilance Commission and 
Comptroller and Auditor General, and 
judicial review of  executive decisions. 
Articles 311 and 312 of the Indian 
Constitution provide job security and 
safeguards to the civil services, especially 
the All India Services. The framers of the 
Constitution had envisaged that provision 
of these safeguards would result in a civil 
service that is not totally subservient to   
the  political  executive  but will have the 
strength to function in larger public 
inte rest. The need to balance internal and 

external accountability is thus built into 
the Constitution. The issue is where to 
draw the line. Over the years, the 
emphasis seems to have tilted in favour of 
greater internal accountability of the civil 
services to  the political leaders of the day 
who in turn  are expected to be externally 
accountable to the society at large through 
the election process. This system for 
seeking accountability to society has not 
worked out, and has led to several adverse 
consequences for governance.  
Some special measures can be considered 
for improving accountability in  civil 
services. Provisions of articles 311 and 312 
should be reviewed and laws and 
regulations framed to ensure external 

accountability of civil services. The 
proposed Civil Services Bill seeks to 
address some of these requirements. The 
respective roles  of professional civil 
services and the political executive should 
be defined so that professional managerial 
functions  and management of civil services 
are depoliticized. For this purpose, effective 
statutory  civil service boards should be  
created at the centre and in the states. 
Decentralization and devolution of 
authority to bring government and decision 
making closer t o the people also helps to 
enhance accountability.  
 

1.  According to the passage, which of the 
following factor/factors led to the 
adverse consequences for 
governance/public administration?  

1.  Inability of civil services to strike a 
balance between internal and e xternal 
accountabilities  

2.  Lack of sufficient professional training to 
the officers of All India Services  

3.  Lack of proper service benefits in civil 
services  

4.  Lack of Constitutional provisions to 
define the respective roles of professional 
civil services vis -a-vis political executive 
in this context  

Select the correct answer using the code 
given below:  

(a) 1 only  
(b) 2 and 3 only  
(c) 1 and 4 only  
(d) 2, 3 and 4  

 
2.  With reference to the passage, the 

following assumptions have been 
made :  

1.  Political executive is an obstacle to the 
accountability of the civil services to the 
society  

2.  In the present framework of Indian 
polity, the political executive is no longer 
accountable to the society  

Which of these assumptions is/are valid?  
(a) 1 only  
(b) 2 only  
(c) Both 1 and 2  
(d) Neither 1 nor 2  
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3.  Which one of the following is the 
essential message implied by this 
passage?  
(a) Civil services are not accountable to 

the society they are serving  
(b) Educated and enlightened persons 

are not taking up political leadership  
(c) The frame rs of the Constitution did 

not envisage the problems being 
encountered by the civil services  

(d) There is a need and scope for reforms 
to improve the accountability of civil 
services  

 
4.  According to the passage, which one 

of the following is not a means of 
enhancing internal accountability of 
civil services?  
(a) Better job security and safeguards  
(b) Supervision by Central Vigilance 

Commission  
(c) Judicial review of executive decisions  
(d) Seeking accountability through 

enhanced participation by people in 
decision making p rocess  

 
Passage-2 

In general, religious traditions stress our duty 
to god, or to some universal ethical principle. 
Our duties to one another derive from these. 
The religious concept of rights is primarily 
derived from our relationship to this divinity 
or p rinciple and the implication it has on our 
other relationships. This correspondence 
between rights and duties  is critical to any 
further understanding of justice. But, for 

justice to be practiced; virtue, rights and 
duties cannot remain formal abstractions . 
They must be grounded in a community 
(common unity) bound together by a sense of 
common union (communion). Even as a 
personal virtue, this solidarity is essential to 
the practice and understanding of justice.  
 

5.  With reference to the passage, the 
following  assumptions have been 
made :  

1.  Human relationships are derived from 
their religious traditions  

2.  Human beings can be duty bound only if 
they believe in god  

3.  Religious traditions are essential to 
practice and understand justice  

Which of these assumption(s) is /are 
valid?  

(a) 1 only  
(b) 2 and 3 only  
(c) 1 and 3 only  
(d) 1, 2 and 3  

 
6.  Which one of the following is the crux 

of this passage?  
(a) Our duties to one another derive from 

our religious traditions  
(b) Having relationship to the divine 

principle is a great virtue  
(c) Balance between and duties is crucial 

to the delivery of justice in a society  
(d) Religious concept of rights is 

primarily derived from our 
relationship to god  

 
Passage-3 

Biomass as fuel for power , heat , and transport 
has the highest mitigation potential of all 
renewable sources. It comes from agriculture 
and forest residues as well as from energy 
crops. The biggest challenge in using biomass 
residues is a long -term reliable supply 
delivered to the power plant at reasonable 
costs; the key problems are logisti cal 
constraints and the costs of fuel collection. 
Energy crops, if not managed properly, 
compete with food production and may have 
undesirable impacts on food prices. Biomass 
production is also sensitive to the physical 
impacts of a changing climate.  
Projections of the future role of biomass are 
probably over -estimated, given the limits to 

the sustainable biomass supply, unless 
breakthrough technologies substantially 
increase productivity. Climate -energy  models 
project that biomass use could increase nearly  
four -fold to around 150 -200 exajoules, almost 
a quarter of world primary energy in 2050. 
However the maximum sustainable technical 
potential of biomass resources (both residues 
and energy crops) without disruption of food 
and forest resources ranges from 80 - 170 
exajoules a year by 2050, and only part   of 
this is realistically and economically feasible. 
In addition, some climate models rely on 
biomass -based carbon capture and storage, 
an unproven technology, to achieve negative 
emissions and to buy some time during the 
first half of the century.  
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Some liquid biofuels such as corn - based 
ethanol, mainly for transport, may aggravate 
rather than ameliorate carbon emissions on a 
life -cycle basis. Second gener ation biofuels, 
based on ligno -cellulosic feedstocks  - such as 
straw, bagasse, grass and wood - hold the 
promise of sustainable production that is 
high - yielding and emit low levels of 
greenhouse gases, but these are still in the R 
& D stage.  
 

7.  What is/are the present 
constraint/constraints in using 
biomass as fuel for power generation?  

1.  Lack of sustainable supply of biomass  
2.  Biomass production competes with food 

production  
3.  Bio -energy may not always be low carbon 

on a life -cycle basis  
Select the correct answer using the code 
given below:  

(a) 1 and 2 only  
(b) 3 only  
(c) 2 and 3 only  
(d) 1, 2 and 3  

 
8.  Which of the following can lead to 

food security problem?  
1.  Using agricultural and forest residues as 

feedstock for power generation  
2.  Using biomass for carbon capture and 

storage  
3.  Promoting the cultivation of energy crops  
Select the  correct answer using the code 
given below:  

(a) 1 and 2 only  

(b) 3 only  
(c) 2 and 3 only  
(d) 1, 2 and 3  

 
9.  In the context of using biomass, which 

of the following is/are the 
characteristic/characteristics of the 
sustainable production of bio -fuel?  

1.  Biomass as a fuel for p ower generation 
could meet all the primary energy 
requirements of the world by 2050  

2.  Biomass as a fuel for power generation 
does not necessarily disrupt food and 
forest resources  

3.  Biomass as a fuel for power generation 
could help in achieving negative 

emiss ions, given certain nascent 
technologies  

Select the correct answer using the code 
given below:  

(a) 1 and 2 only  
(b) 3 only  
(c) 2 and 3 only  
(d) 1, 2 and 3  

 
10.  With reference to the passage, 

following assumptions have been mad 
: 

1.  Some climate -energy models suggest 
that the use of biomass as a fuel for 
power generation helps in mitigating 
greenhouse gas emissions  

2.  It is not possible to use biomass as a fuel 
for power generation without disrupting 
food and forest resources  

Which of t hese assumptions is/are valid?  
(a) 1 only  
(b) 2 only  
(c) Both 1 and 2  
(d) Neither 1 nor 2  

 
Passage-4 

We are witnessing a dangerous dwindling of 
biodiversity in our food supply. The green 
revolution is a mixed blessing. Over time 
farmers have come to rely heavily on broadl y 
adapted, high yield crops to the exclusion of 
varieties adapted to the local conditions. 
Monocropping vast fields with the same 
genetically uniform seeds helps boost yield 
and meet immediate hunger needs. Yet high -
yield varieties are also genetically wea ker 

crops that require expensive chemical 
fertilizers and toxic pesticides. In our focus on 
increasing the amount of food we produce 
today, we have accidentally put ourselves at 
risk for food shortages in future.  
 

11.  Which among the following is the 
most logi cal and critical inference 
that can be made from the above 
passage?  
(a) In our agricultural practices, we have 

become heavily dependent on 
expensive chemical fertilizers and 
toxic pesticides only due to green 
revolution  
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(b) Monocropping vast fields with high -
yield  varieties is possible due to green 
revolution  

(c) Monocropping with high -yield 
varieties is the only way to ensure 
food security to millions  

(d) Green revolution can pose a threat to 
biodiversity in food supply and food 
security in the long run  

 
Passage-5 

By kill ing transparency and competition, 
crony capitalism is harmful to  free enterprise, 
opportunity and economic growth. Crony 
capitalism, where rich and the influential are 
alleged to have received land and natural 
resources and various licences in return for 
payoffs to venal politicians, is now a major 
issue to be tackled.  One of the greatest 
dangers to growth of developing economies 
like India is the middle -income trap where 
crony capitalism creates oligarchies that slow 
down the growth.  
 

12.  Which among the following is the 
most logical corollary to the above 
passage?  
(a) Launching more welfare schemes and 

allocating more finances for the 
current schemes r are urgently 
needed 

(b) Efforts should be made to push up 
economic growth by other means and 
provide licences to the poor  

(c) Greater transparency in the 
functioning of the gover nment and 

promoting the financial inclusion are 
needed at present  

(d) We should concentrate more on 
developing manufacturing sector than 
service sector  

 
Passage-6 

Climate adaptation may be rendered 
ineffective if policies are not designed in the 
context of oth er development concerns. For 
instance, a comprehensive strategy that seeks 
to improve food security in the context of 
climate change may include a  set of 
coordinated measures related to agricultural 
extension, crop diversification, integrated 
water and pes t management and agricultural 
information services. Some  of these measures 

may have to do with climate changes and 
others with economic development.  
 

13.  What is the most logical and 
rational inference that can be made 
from the above passage?  
(a) It is difficult t o pursue climate 

adaptation in the developing 
countries  

(b) Improving food security is a far more 
complex issue than climate 
adaptation  

(c) Every developmental activity is 
directly or indirectly linked to climate 
adaptation  

(d) Climate adaptation should be 
examined in  tandem with other 
economic development options  

 
Passage-7 

Understanding of the role of biodiversity in the 
hydrological cycle enables better policy  
-making. The term biodiversity refers to the 
variety of plants, animals, microorganisms, 
and the ecosystems  in which they occur. 
Water and biodiversity are interdependent. In 
reality, the hydrological cycle decides how 
biodiversity functions. In turn, vegetation and 
soil drive the movement of water. Every glass 
of water we drink has, at least in part, passed 
th rough fish, trees, bacteria, soil and other 
organisms. Passing through these ecosystems, 
it is cleansed and made fit for consumption. 
The supply of water   is a critical service that 
the environment provides.  
 

14.  Which among the following is the 
most critical  inference that can be 
made from the above passage ?  
(a) biodiversity sustains the ability of 

nature to recycle water  
(b) We cannot get potable water without 

the existence of living organisms  
(c) Plants, animals and microorganisms 

continuously interact among 
themselve s 

(d) Living organisms could not have 
come into existence without 
hydrological cycle  
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Passage-8 
In the last decade, the banking sector has 
been restructured with a high degree of 
automation and products that mainly serve 
middle -class and upper middle -class society. 
Today there is a need for a new agenda for the 
banking and non -banking financial services 
that does not exclude the common man.  
 

15.  Which one of the following is the 
message that is essentially implied in 
the above passage?  
(a) Need for more automation a nd more 

products of bank  
(b) Need for a radical restructuring of our 

entire public finance system  
(c) Need to integrate banking and non -

banking institutions  
(d) Need to promote financial inclusion  

 
Passage-9 

Safe and sustainable sanitation in slums has 
immeasurable b enefits to women and girls in 
terms of their health, safety, privacy and 
dignity. However, women do not feature in 
most of the schemes and policies on urban 
sanitation. The fact that even now the manual 
scavenging exists, only goes to show that not 
enough has been done to promote pour -flush 
toilets and discontinue the use of dry latrines. 
A more sustained and rigorous campaign 
needs to be launched towards the right  to 
sanitation on a very large scale. This should 
primarily focus on   the abolition  of manual  
scavenging.  
 

16.  With reference to the above 
passage, consider the following 
statements:  

1.  Urban sanitation problems can be fully 
solved by the abolition of manual 
scavenging only  

2.  There is a need to promote greater 
awareness on safe sanitation practices in 
urba n areas  

Which of the statements given above 
is/are correct?  

(a) 1 only  
(b) 2 only  
(c) Both I and 2  
(d) Neither 1 nor 2  

 
 

Passage-10  
To understand the nature and quantity of 
Government proper for man , it is necessary to 
attend to his character. As nature created him 
for social life, she fitted him  for the station she  
intended.  In all cases she made his natural 
wants greater than his individual powers. No 
one man is capable, without the aid of society , 
of supplying his own wants; and those wants, 
acting upon every individual, impel the whole 
of them into society  
 

17.  Which among the following is the 
most logical and rational inference 
that can be made from the above 
passage?  
(a) Nature has created a great dive rsity 

in human society  
(b) Any given human society is always 

short of its wants  
(c) Social life is a specific characteristic 

of man  
(d) Diverse natural wants forced man 

towards social system  
 

Passage-11  
The nature of the legal imperatives in any 
given state correspond s to the effective 
demands that state encounters, and that 
these, in their turn, depend, in a general way, 
upon the manner in which economic power is 
distributed in the society which the state 
controls.  
 

18.  The statement refers to:  
(a) the antithesis of Politics and 

Economics  
(b) the interrelationship of Politics and 

Economics  
(c) the predominance of Economics over 

Politics  
(d) the predominance of Politics over 

Economics  
 

Passage-12  
About 15 per cent of global greenhouse gas 
emissions come from agricultural practices. 
This includes nitrous oxide  from fertilizers; 
methane from livestock, rice production, and 
manure storage; and carbon dioxide (CO2) 
from burning biomass, but this exclud es CO2 
emissions from soil management practices, 
savannah burning and deforestation. Forestry, 
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land use, and land -use change account for 
another 17 per cent of greenhouse gas 
emissions each year, three quarters of which 
come from tropical   deforestation.    The  
remainder is largely from draining and 
burning tropical peatland. About the same 
amount of carbon is stored in the worldõs 
peatlands as is stored in the Amazon 
rainforest.  
 

19.  Which among the following is the 
most logical and rational inference 
that c an be made from the above 
passage?  
(a) Organic farming should immediately 

replace mechanised and chemical 
dependant agricultural practices all 
over the world  

(b) It is imperative for us to modify our 
land use practices in order to mitigate 
climate change.  

(c) There ar e no technological solutions 
to the problem of greenhouse gas 
emissions  

(d) Tropical areas are the chief sites of 
carbon sequestration  

 
Passage-13 

As we look to 2050, when we will  need to feed 
two billion more people, the question of which 
diet is best has taken on new urgency. The 
foods we choose to eat in the coming decades 
will have dramatic ramifications for the 
planet. Simply put, a diet that revolves around 
meat and dairy, a way of eating that is on the 
rise throughout the developing world, will take 

a greater toll on the worldõs resources than 
one that revolves around unrefined  grains, 
nuts, fruits and vegetables.  
 

20.  What is the critical message 
conveyed by the above passage?  
(a) Our increasing demand for foods 

sourced from animals puts a greater 
burden on o ur natural resources  

(b) Diets based on grains, nuts, fruits 
and vegetables are best suited for 
health in developing countries  

(c) Human beings change their food 
habits from time to time irrespective 
of the health concerns  

(d) From a global perspective, we still do 
not know which type of diet is best 
for us  

 
Passage-14  

All humans digest motherõs milk as infants, 
but until cattle began being domesticated 
10,000 years ago, children once weaned no 
longer needed to digest milk. As a result, they 
stopped  making  the enzyme  lactase, which 
breaks down the sugar lactose into  simple  
sugars. After humans began herding cattle, it 
became tremendously advantageous to digest 
milk, and lactose tolerance evolved 
independently among cattle herders in 
Europe, the middle East and Afric a. Groups 
not  dependant  on  cattle,  such as the 
Chinese and Thai, remain lactose intolerant.  
 

21.  Which among the following is the 
most logical assumption that can be 
made from the above passage?  
(a) About 10,000 years ago, the 

domestication of animals took pla ce 
in some parts of the world  

(b) A permanent change in the food 
habits of a community can bring 
about a genetic change in its 
members  

(c) Lactose tolerant people only are 
capable of getting simple sugars in 
their bodies  

(d) People who are not lactose tolerant 
cannot digest any dairy product  

 
Passage-15  

òThe conceptual difficulties in National Income 
comparisons between underdeveloped and 
industrialised countries are particularly 
serious because a part of the national output 
in various underdeveloped countries is 
produ ced without passing through the 
commercial channels.ó 
 

22.  In the above statement, the author 
implies that:  
(a) the entire national output produced 

and consumed in industrialized 
countries passes through commercial 
channels  

(b) the existence of a non -commercialized 
sector in different underdeveloped 
countries renders the national 
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income comparisons over countries 
difficult  

(c) no part of national output should be 
produced and consumed without 
passing through commercial 
channels  

(d) a part of the national output being 
produced and consumed without 
passing through commercial 
channels is a sign of 
underdevelopment  

 
Passage-16  

An increase in human -made carbon dioxide  
in the atmosphere  could  initiate  a chain 
reaction between plants and microorganisms 
that  would unsettle one   o f the largest 
carbon reservoirs on the planet -soil. In a 
study, it was found that the soil, which 
contains twice the amount of carbon present 
in all plants and Earthõs atmosphere 
combined, could become increasingly volatile 
as people add more carbon dioxid e to the 
atmosphere. This is largely because of 
increased plant growth. Although a 
greenhouse gas and a pollutant, carbon 
dioxide also supports plant growth.  
As trees and other vegetation flourish in a 
carbon dioxide -rich future, their roots could 
stimulate microbial activity in soil that may in 
turn accelerate the decomposition of soil 
carbon and its release into the atmosphere as 
carbon dioxide.  
 

23.  Which among the following is the 
most logical corollary to the above 

passage?  
(a) Carbon dioxide is essential for the 

survival of microorganisms and 
plants  

(b) Humans are solely responsible for the 
release of carbon dioxide into the 
atmosphere  

(c) Microorganisms and soil carbon are 
mainly responsible for the increased 
plant growth  

(d) Increasing green cover could tr igger 
the release of carbon trapped in soil  

 
 
 
 
 

Passage - 17  
Disruption of traditional institutions, 
identifications and loyalties is likely to lead to 
ambivalent situations. It is possible that some 
people may renew their identification with 
traditional groups whereas others align 
themselves with new groups and symbols 
emergent from processes of political 
development. In addition, political 
development tends to foster group awareness 
of a variety of class, tribe, region, clan, 
language, religion, occupati on and others.  
 

24.  Which one of the following is the 
best explanation of the above 
passage?  
(a) Political development is not a 

unilinear process for it involves both 
growth and decay.  

(b) Traditional societies succeed in 
resisting positive aspects of political 
development.  

(c) It is impossible for traditional 
societies to break away from lingering 
loyalties.  

(d) Sustenance of traditional loyalties is 
conducive to political development.  

 
Passage-18  

There has been a significant trend worldwide 
towards regionalism in government,  resulting 
in a widespread transfer of powers downwards 
towards regions and communities since 
1990s. This process, which involves the 
creation of new political entities and bodies at 
a sub -national level and an increase in their 

content and powers, is know n as devolution. 
Devolution has been characterized as being 
made up of three factors ñpolitical legitimacy, 
decentralization of authority and 
decentralization of resources. Political 
legitimacy here means a mass demand from 
below for the decentralization pr ocess, which 
is able to create a political force for it to take 
place. In many cases, decentralization is 
initiated by the upper tier of government 
without sufficient political mobilization for it 
at the grassroots level, and in such cases the 
decentraliza tion process often does not fulfil 
its objectives.  
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25.  Which among the following is the 
most logical, rational and critical 
inference that can be made from the 
above passage?  
(a) Emergence of powerful mass leaders 

is essential to create sub -national 
political entities and thus ensure 
successful devolution and 
decentralization.  

(b) The upper tier of government should 
impose devolution and 
decentralization on the regional 
communities by law or otherwise.  

(c) Devolution, to be successful, requires 
a democracy in which the re is free 
expression of the will of the people at 
lower level and their active 
participation at the grassroots level.  

(d) For devolution to take place, a strong 
feeling of regionalism in the masses is 
essential.  

 
Passage-19  

We live in digital times. The digital is not just 
something we use strategically and specifically 
to do a few tasks. Our very perception of who 
we are, how we connect to the world around 
us, and the ways in which we define our 
domains of life, labour and language are 
hugely structured by the digital technologies. 
The digital is everywhere and; like air, 
invisible. We live within digital systems, we 
live with intimate gadgets, we interact through 
digital media, and the very presence and 
imagination of the digital has dramatically 
restruc tured our lives. The digital, far from 

being a tool, is a condition and context that 
defines the shapes and boundaries of our 
understanding of the self, the society, and the 
structure of governance.  
 

26.  Which among the following is the 
most logical and essent ial message 
conveyed by the above passage?  
(a) All problems of governance can be 

solved by using digital technologies.  
(b) Speaking of digital technologies is 

speaking of our life and living.  
(c) Our creativity and imagination 

cannot be expressed without digital 
media . 

(d) Use of digital systems is imperative 
for the existence of mankind in 
future.  

 
Passage - 20  

The IMF has pointed out that the fast growing 
economies of Asia face the risk of falling into 
'middle -income trapõ. It means that average 
incomes in these countrie s, which till now 
have been growing rapidly, will stop growing 
beyond a point ña point that is well short of 
incomes in the developed West. The IMF 
identifies a number of causes of middle -
income trap ñnone of which is surprising ñ
from infrastructure to weak i nstitutions, to 
less than favourable macroeconomic 
conditions. But the broad, overall cause, says 
IMF, is a collapse in the growth of 
productivity.  
 

27.  Which among the following is the 
most logical, rational and critical 
inference that can be made from the 
above passage?  
(a) Once a country reaches middle -

income stage, it runs the risk of 
falling productivity which leads to 
stagnant incomes.  

(b) Falling into middle -income trap is a 
general characteristic of fast growing 
economies.  

(c) There is no hope at all for emerging 
Asian economies to sustain the 
growth momentum.  

(d) As regards growth of productivity, the 
performance of Asian economies is 

not satisfactory.  
 

Passage- 21  
An innovative India will be inclusive as well as 
technologically advanced, improving the lives 
of all Indians. Innovation and R&D can 
mitigate increases in social inequality and 
relieve the pressures created by rapid 
urbanization. The growing divergence in  
productivity between agriculture and 
knowledge -intensive manufacturing and 
services threatens to increase income 
inequality. By encouraging India's R&D labs 
and universities to focus on the needs of poor 
people and by improving the ability of informal 
fir ms to absorb knowledge, an innovation and 
research agenda can counter this effect. 
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Inclusive innovation can lower the costs of 
goods and services and create income - 
earning opportunities for the poor people.  
 

28.  Which among the following is the 
most logical and rational assumption 
that can be made from the above 
passage?  
(a) Innovation and R&D is the only way 

to reduce rural to urban migration.  
(b) Every rapidly growing country needs 

to minimize the divergence between 
productivity in agriculture and other 
sectors.  

(c) In clusive innovation and R&D can 
help create an egalitarian society.  

(d) Rapid urbanization takes place only 
when a country's economic growth is 
rapid.  
 

Passage-22  
Climate change is likely to expose a large 
number of people to increasing environmental 
risks forcing them to migrate. The 
international community is yet to recognize 
this new category of migrants. There is no 
consensus on the definition and status of 
climate refugees owing to the distinct meaning 
the term refugees carry under international 
laws. T here are still gaps in understanding 
how climate change will work as the root 
cause of migration. Even if there is recognition 
of climate refugees, who is going to provide 
protection? More emphasis has been given to 
international migration due to climate c hange. 
But there is a need to recognize the migration 

of such people within the countries also so 
that their problems can be addressed 
properly.  
 

29.  Which of the following is the most 
rational inference from the above 
passage?  
(a) The world will not be able to co pe 

with large scale migration of climate 
refugees.  

(b) We must find the ways and means to 
stop further climate change.  

(c) Climate change will be the most 
important reason for the migration of 
people in the future.  

(d) Relation between climate change and 
migration is not yet properly 
understood.  

 
 
 

Passage-23  
A successful democracy depends upon 
widespread interest and participation in 
politics, in which voting is an essential part. 
To deliberately refrain from taking such an 
interest, and from voting, is a kind of implied 
anarchy, it is to refuse one's political 
responsibility while enjoying the benefits of a 
free political society.  
 

30.  This passage relates to  
(a) duty to vote  
(b) right to vote  
(c) freedom to vote  
(d) right to participate in politics  

 
Passage-24 

Many farmers use synth etic pesticides to kill 
infesting insects. The consumption of 
pesticides in some of the developed countries 
is touching 3000 grams/hectare. 
Unfortunately, there are reports that these 
compounds possess inherent toxicities that 
endanger, the health of the f arm operators, 
consumers and the environment. Synthetic 
pesticides are generally persistent in 
environment. Entering in food chain they 
destroy the microbial diversity and cause 
ecological imbalance. Their indiscriminate use 
has resulted in development of resistance 

among insects to insecticides, upsetting of 
balance in nature and resurgence of treated 
populations. Natural pest control using the 
botanical pesticides is safer to the user and 
the environment because they break down 
into harmless compounds wit hin hours or 
days in the presence of sunlight. Plants with 
pesticidal properties have been in nature for 
millions of years without any ill or adverse 
effects on the ecosystem. They are easily 
decomposed by many microbes common in 
most soil. They help in th e maintenance of 
biological diversity, of predators and the 
reduction of environmental contamination and 
human health hazards. Botanical pesticides 
formulated from plants are biodegradable and 
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their use in crop protection is a practical 
sustainable alterna tive.  
 
 
 

31.  On the basis of the above passage, 
the following assumptions have been 
made:  

1.  Synthetic pesticides should never be 
used in modem agriculture.  

2.  One of the aims of sustainable 
agriculture is to ensure minimal 
ecological imbalance.  

3.  Botanical pesticides  are more effective as 
compared to synthetic pesticides.  

Which of the assumptions given above 
is/are correct?  

(a) 1 and 2 only  
(b) 2 only  
(c) 1 and 3 only  
(d) 1, 2 and 3  

 
32.  Which of the following statements 

is/are correct regarding bio -
pesticides?  

1.  They are not hazardous to human 
health.  

2.  They are persistent in environment.  
3.  They are essential to maintain the 

biodiversity of any ecosystem.  
Select the correct answer using the code 
given below.  

(a) 1 only  
(b) 1 and 2 only  
(c) 1 and 3 only  
(d) 1, 2 and 3  

 
Passage-25 

An air quality index (AQI) is a way to combine 
measurements of multiple air pollutants into a 
single number or rating. This index is ideally 
kept constantly updated and available in 
different places. The AQI is most useful when  
lots of pollution data are being gathered and 
when polluti on levels are normally, but not 
always, low. In such cases, if pollution levels 
spike for a few days, the public can quickly 
take preventive action (like staying indoors) in 
response to an air quality warning. 
Unfortunately, that is not urban India. 
Pollut ion levels in many large Indian cities are 
so high that they remain well above any 
health or regulatory standard for large part of 

the year. If our index stays in the 
Red/Dangerous' region day after day, there is 
not much any one can do, other than getting  
used to ignoring it.  
 

33.  Which among the following is the 
most logical and rational inference 
that can be made from the above 
passage?  
(a) Our governments are not responsible 

enough to keep our cities pollution 
free.  

(b) There is absolutely no need for air 
quality indices in our country.  

(c) Air quality index is not helpful to the 
residents of many of our large cities.  

(d) In every city, public awareness about 
pollution problems should increase.  

 
Passage-26 

Productive jobs are vital for growth and a good 
job is the best for m of inclusion. More than 
half of our population depends on agriculture, 
but the experience of other countries suggests 
that the number of people dependent on 
agriculture will have to shrink if per capita 
incomes in agriculture are to go up 
substantially. While industry is creating jobs, 
too many such jobs are low -productivity non -
contractual jobs in the unorganized sector, 
offering low incomes, little protection, and no 
benefits. Service jobs are relatively of high 
productivity, but employment growth in 
services has been slow in recent years.  
 

34.  Which among the following is the 

most logical and rational inference 
that can be made from the above 
passage?  
(a) We must create conditions for the 

faster growth of highly productive 
service jobs to ensure employment 
grow th and inclusion.  

(b) We must shift the farm workers to 
the highly productive manufacturing 
and service sectors to ensure the 
economic growth and inclusion.  

(c) We must create conditions for the 
faster growth of productive jobs 
outside of agriculture even while 
im proving the productivity of 
agriculture.  
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(d) We must emphasize the cultivation of 
high -yielding hybrid varieties and 
genetically modified crops to increase 
the per capita income in agriculture.  

 
 

Passage-27 
The medium term challenge for Indian 
manufacturing is  to move from lower to higher 
tech sectors, from lower to higher value -added 
sectors, and from lower to higher productivity 
sectors. Medium tech industries are primarily 
capital intensive and resource processing; and 
high tech industries are mainly capital  and 
technology intensive. In order to push the 
share of manufacturing in overall GDP to the 
projected 25 per cent, Indian manufacturing 
needs to capture the global market in sectors 
showing a rising trend in demand. These 
sectors are largely high technolo gy and capital 
intensive.  
 

35.  Which among the following is the 
most logical and rational inference 
that can be made from the above 
passage?  
(a) India's GDP displays high value -

added and high productivity levels in 
medium tech and resource processing 
industries.  

(b) Promotion of capital and technology 
intensive manufacturing is not 
possible in India.  

(c) India should push up the public 
investments and encourage the 
private investments in research and 

development, technology upgradation 
and skill development.  

(d) India has already gained a great 
share in global markets in sectors 
showing a rising trend in demand.  

 
Passage-28 

Over the last decade, Indian agriculture has 
become more robust with record production of 
food grains and oilseeds. Increased 
procurement, consequently,  has added huge 
of food grains in the granaries. India is one of 
the world's top producers of rice, wheat, milk, 
fruits and vegetables. India is still home the 
quarter of all  undernourished people in the 
world. On an average, almost half of the total 

expen diture of nearly half of the households is 
on food.  
 
 
 

36.  Which among the following is the 
most logical corollary to the above 
passage?  
(a) Increasing the efficiency of farm to -

fork value chain is necessary to 
reduce the poverty and malnutrition.  

(b) Increasing the a gricultural 
productivity will automatically 
eliminate the poverty and 
malnutrition in India.  

(c) India's agricultural productivity is 
already great and it is not necessary 
to increase it further.  

(d) Allocation of more funds for social 
welfare and poverty alleviat ion 
programmes will ultimately eliminate 
the poverty and malnutrition in India.  

 
 

Passage-29  
In a democratic State, where a high degree of 
Political maturity of the people obtains, the 
conflict between the will of the sovereign law -
making body and the orga nized will of the 
people seldom occurs.  
 

37.  What does the above passage 
imply?  
(a) In a democracy, force is the main 

phenomenon in the actual exercise of 
sovereignty.  

(b) In a mature democracy, force to a 
great extent is the main phenomenon 
in the actual exercise of sovereignty.  

(c) In a mature democracy, use of force 
is irrelevant in the actual exercise of 
sovereignty.  

(d) In a mature democracy, force is 
narrowed down to a marginal 
phenomenon in the actual exercise of 
sovereignty.  

 
Passage-30  

We have hard work ahead. There i s no resting 
for any of us till we redeem our pledge in full 
fill we make all the people of India what 
destiny intends them to be. We are citizens of 
a great country, on the verge of bold advance, 
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and we have to live up to that high standard. 
All of us, to  whatever religion we may belong, 
are equally the children of India with, equal 
rights, privileges and obligations. We cannot 
encourage communalism or narrow 
mindedness, for no nation can be great whose 
people are narrow in thought or action.  
 

38.  The challeng e the author of the 
above passage throws to the public is 
to achieve  
(a) a high standard of living, progress 

and privileges  
(b) equal privileges, fulfilment of destiny 

and political tolerance  
(c) spirit of adventure and economic 

parity  
(d) hard work, brotherhood out natio nal 

unity  
 

Passage-31  
The States are like pearls and the Centre is 
the thread which turns them into a necklace; 
if the read snaps, the pearls are scattered.  
 

39.  Which one of the following views 
corroborates the above statement?  
(a) A strong Centre and strong States 

make the federation strong.  
(b) A strong Centre is a binding force for 

national integrity.  
(c) A strong Centre is a hindrance to 

State autonomy.  
(d) State autonomy is a prerequisite for a 

federation.  
 

Passage-32 
In a free country, the man who reaches the 
position of leader is usually one of 
outstanding, character and ability. Moreover, 
it is usually possible to foresee that he will 
reach such a position, since early in life one 
can see his qualities of character. But this is 
not always true in the case of a dictator; often 
he reaches his position of power through 
chance, very often through the unhappy state 
of his country.  
 

40.  The passage seems to suggest that  
(a) a leader foresees his future position  
(b) a leader is chosen only by a free 

country  

(c) a leader must see tha t his country is 
free from despair  

(d) despair in a country sometimes leads 
to dictatorship  
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